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Figure 3.38: Schematic of spring-restrained, hinged-freebeam

Page Description

77 The second of Eqs. (3.219) should read

M(0, t) = IC

∂3v

∂x∂t2
(0, t) (3.219)

77 The second of Eqs. (3.220) should read

EI(0)
∂2v

∂x2
(0, t) = IC

∂3v

∂x∂t2
(0, t) (3.220)

77 Eqs. (3.224) should read

−V (ℓ, t) =mc

∂2v

∂t2
(ℓ, t)

−M(ℓ, t) =IC

∂3v

∂x∂t2
(ℓ, t)

(3.224)

78 Eqs. (3.226) should read
V (ℓ, t) =mcω

2v(ℓ, t)

M(ℓ, t) =ICω2
∂v

∂x
(ℓ, t)

(3.226)

85 Figure 3.38 should be as shown above; the pin support is missing from the figure in the text.


